
Zählwerk Hauswasserzähler Qn 2,5 oder Q3 4 

 

 

 

 

Hauptzählwerk 5-stellig = volle m3 

1.Nachkommastelle = 0,1 m3 

1 Zeigerumdrehung = 1000 l 

Anlaufstern        1 Teilstrich = 100 l 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1.Nachkommastelle = 0,0001 m3      1.Nachkommastelle = 0,01 m3 

1 Zeigerumdrehung = 1 l       1 Zeigerumdrehung = 100 l 

1 Teilstrich = 0,1 l        1 Teilstrich = 10 l 

 

1.Nachkommastelle = 0,001 m3 

1 Zeigerumdrehung = 10 l 

1 Teilstrich = 1 l 


